$HE L0/

A 80X #od

7L ETS0TL/ £

HES0¥2A2 B

=#P8+9L/0LESTE |01

=8#T/OXO5LECH

01

=QTLEV+54H°EA |6

=#ELTXL/IOTS A

=48L0°0+FTTA |8

=L 80°SXTHI L/ A

=TéH'$+550°8% 4 | L

=§TFOxE0#°89E %

=/STH+/4THHE/TA |9

=98 8L x/EQTER

=$L894°0+hnl A | &

=408 #x685°0L A

=408/ +#/ 6/ 9L/ K| ¥

=P/860°0XST/°8% %

=980'T+TSH TSP L |8

=/HP EXFHE LI A

=E'H/T+LEEELT A |E

=$L87EXHOEFE

=4/0'S+#05EHHTE | T

=80/ 6*xESE /A

YIS X YUESHABEINE %
2 0 U s H U
TTISSTTES/ A HESQXI2 BOIF
+
SHLET4LE L8 HEOS/ 0/S HEL 69~ $£94°0/7°8¢ HOEEIT /L 01
$RETELL/ — 975708 89 /0845~ /8OLITE LT /49T 6
#TO0/EE°P4~ TOELEE /S FETFEL A/ T/9°65LHE 09/°6TE'58 8
TL/ 85049 EE0E9%° 8T LHSOTEEE HET0/9°48 ELH058°8/ L
958°LOES/ 089°#56'TE §$0L° /6978~ ESHEE/°LT 05ETO/ 49 9
L45°08T /& $68°0/9°€L ETCFYUHS /&~ 095°LTE 4/ S$HE HEP' 8L g
/B TEE 0T~ FTLTE/HS #E089T° 8L LERTOL #E HET/LOHS ¥
0L 8°9TH*ES TEHE0L°F/ LLITSH 07 TLESER 08 EL0°8TS LY g
#ET /0954 /48°9TS 0% TEEL/OHS ST/ H80°S9 T/L%67°08 4
£05°64/° %8 E|0#L 59086 E|#20'80E°S/ AElE08 #8574 BT/ L#8°6S AT
g ¥ g ¢ T
g2 U 4 ¥ 2
(HOLH L L HAMS)
g (80T USRI YeLGAxA)E
= ~ BYAL-¥ ~ |
& (FUBENUN P LY T CHEEVMRUTHRTHY
o M 2B BUSYTHHRTY DT HESURERURRTY S 8 Xt ug




